Subnetting B Exercises

Problem #1

Networks  « ~ @© e ® 3 g § g é g é % % Default I\C/IIZSSIi

Custom Mask:

Hosts § § % E § g 5 % © @ 3 o © © < Bits Barrowed:

3 & e o < N = N Subnets:

Mask 128 192 224 240 248 252 254 255 128 192 224 240 248 252 254 255 Total Hosts:

Borrowed 1 2 3 4 5 6 7 8 9 10 M 12 13 14 15 16 Usable Hosts:
172.16.

128 64 32 16 8 4 2 1 128 64 32 16 8 4 2 1
Net Hosts Net Usable Broad

1 3k
2 3k
3 1K
4 523
5 250
6 120
7 2
8 2
9 2
10 2
11 2
12 2
13 2
14 2
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Subnetting B Exercises

Problem #1 - Answers

Networks «~ <« o @ 8 ¥ & 8 > 5 % 8 5 3 Class: B
- o ~ @ 2 Default Mask: ~ 235.255.0.0
3 2 3 N © @ < © Custom Mask:  235.255.2¢40.0
Hosts E 5 g % §_ §_ § S 10 8 3 P © © < Bits Barrowed: ¢
Mask 128 192 224 240 248 252 254 255 128 192 224 240 248 252 254 255 subnets: 16
Borrowed 1 2 3 @ 5 6 7 8 9 10 1 10 13 14 5 6 Total Hosts: 4096
172.16. Usable Hosts: 409¢
128 64 32 16 8 4 2 1 128 64 32 16 8 4 2 1 First 2 Octets Omitted to Save Space
Net Hosts Net Usable  Broad
1 3k (0] (0] (0] (0] 0.0 0.1-.15.25¢ 15.255
2 3k 0] 0] (0] 1 260 26.1- .32.25¢ 31,255
3 1K 0] (0] 1 (0] 320 321- 47.25¢ 47.255
4 523 0] 0] 1 1 48.0 48.1- .63.25¢ 63.255
) 250 (0] 1 0 0 64.0 64.1- 9.25¢ 79.255
6 120 (0] 1 (0] 1 80.0 80.1-.95.25¢ 95.255
7 2 (0] 1 1 (0] 96.0 96.1 - .111.25¢ 212. 255
8 2 o 1 1 1 .112.0 .112.1 - .127.25¢ .127. 255
9 2 1 (0] (0] 0} 128.0 1281 - .143.25¢ 243.255
10 2 1 (0] (0] 1 2494.0 2641 - 159.25¢ 259. 255
11 2 1 (0] 1 (0] 160.0 160.1 - 175.25¢ 175. 255
12 2 1 0] 1 1 176.0 276.1-.191.25¢ 292. 255
13 2 1 1 (0] (0] 1920 292.1-.207.25¢ 207.255
1 4 2 1 1 O 1 .208.0 .208.1 - .223.25¢ .223. 255
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Networks

Hosts

Mask

Borrowed

172.31.

Net Hosts
1 55
2 54
3 54
4 45
) 43
6 43
7 43
8 42
9 40
10 40
11 40
12 35
13 34
14 30
15 30

Subnetting B Exercises

Problem #2
o] © o~ N ? 8 q g Class:
o~ < ® © S 3 ~ 0 o S IS} <3 2 ™ '
- N ~ o © Default Mask:
Custom Mask:
© © <
™ © @ N 8 X 3 © ©
g. 5 g; % %_ §_ § % Q o 3 » e @ < Bits Barrowed:
Subnets:
128 192 224 240 248 252 254 255 128 192 224 240 248 252 254 255
Total Hosts:
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16
Usable Hosts:
128 64 32 16 8 4 2 1 128 64 32 16 8 4 2 1
Net Usable  Broad
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Networks

Hosts

Mask

Borrowed

172.31.

Net Hosts
1 55
2 54
3 54
4 45
) 43
6 43
7 43
8 42
9 40
10 40
11 40
12 35
13 34
14 30
15 30

Subnetting B Exercises

Problem #2 - Answers

= N w0 - ~ < © © Default Mask: 255.255.0.0
S 3 3 © © < Custom Mask:  299.255.255.192
% § i % %‘ §‘ & 5 § 8 S » e @ ~ Bits Barrowed: 10
Subnets: 102¢

128 192 224 240 248 252 254 255 128 192 | 224 240 248 252 254 255 . P
1 2 3 4 5 6 7 8 9 " 12 13 14 15 16 Usable Hoste 62

128 64 32 16 8 4 2 1 128 64 32 16 8 4 2 1

Net Usable  Broad

0 0} 0} 0 0 o o 0 0 0 0.0 0.1-.0.62 .0.63
(0] (0] (0] (0] 0 0 0 (0] (0] 1 0.64 .0.65-.0. 126 0127
0] 0 0] 0 0] 0 o] 0] 1 0 0.128 0.129 - .0.190 0191
(0] (0] (0] (0] (0] (0] (0] (0] 1 1 .0.192 .0.193 - .0.25¢ .0.255
0 0 0 0 0 0 0 1 0 0 20 11-2.62 263
0 0 0 0 0 0 0 1 0 1 264 2.65-.2.126 2127
0] 0] (0] (0] 0 0 0 1 1 0] 2128 1129 -.1.190 2191
0] 0] 0] (0] (0] (0] (0] 1 1 1 2192 2293 2.25¢ 2255
0 0 0 0 0 0 1 0 0 0 2.0 21-.2.62 2.6
0] 0] (0] (0] (0] (0] 1 0] 0] 1 2.64 2.65-.2.126 2.127
0] 0] (0] (0] 0 0 1 0] 1 0] 2128 2129 2.190 2.191
(0] (0] (0] (0] (0] (0] 1 0] 1 1 2192 2.193- 2.25¢ 2.255
0} (0] (0] (0] (0] (0] 1 1 (0] 0 3.0 31-.3.62 3.63
(0] (0] (0] (0] (0] (0] 1 1 (0] 1 364 3.65-.3. 126 3.127
0} (0] (0] (0] (0] (0] 1 1 1 0 3128 3129~ .3.190 3.191
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